ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

. = R ! METRIC FEMALE MULTISEAL
_ purmn _ L 20111 =7, 20111-T
= ¥ ,-:_f_fﬂ]jm]]ﬂ_ 45° 60° HOSE BORE DIMENSIONS
4 45° METRIC FEMALE 60° CONE PART Number :
i )/, THREADE DN DASH C
ﬁ,_,::j‘-\‘ e 20641-T 20111-10-03 M10x 1 5 03 18 2.5 14
20111-12-04 M12x 1.5 6 04 18.5 4 17
20111-14-04 M14x 1.5 6 04 19.5 4.5 19
E HOSE BORE DIMENSIONS 20111-16-05 M16x 1.5 8 05 20 4.5 22
PART Number o ocADE DN DASH A c H S92 20111-18-06 M18x 1.5 10 06 21.5 4 24
20641-14-04 M14x 1.5 6 04 42.7 5.5 20.6 19 20111-20-06T M20x 1.5 10 06 20.5 5.5 24
20641-16-05 M16x 1.5 8 05 45.1 5.5 21.8 22 20111-22-08 M22x 1.5 12 08 23.5 5 27
20641-18-06 M18x 1.5 10 06 47.4 5.5 23.2 24 20111-24-08T M24x 1.5 12 08 22 5.5 30
20641-22-08 M22x 1.5 12 08 61.8 6 26.8 27 20111-27-10T M27x 1.5 16 10 23.5 7 32
20641-36-14T M36x 2 22 14 81.9 6.5 31.6 41 20111-30-12 M30x 2 20 12 26.5 7 36
20641-39-16T M39x 2 25 16 88.5 6.5 34.3 46 20111-36-14T M36x 2 22 14 26 7 41
20641-45-20T M45x 2 32 20 99.1 8.5 38.4 55 20111-39-16T M39x 2 25 16 29.5 7 46
20641-52-24T M52x 2 40 24 113.4 10 42.7 60 20111-42-16T M42x 2 25 16 30 8.5 50
1 5 20642-xX-xX 20111-45-20T M45x 2 32 20 31.5 8.5 55
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20642-xx-xx. 20111-52-24T M52x 2 40 24 33 9 60
20111-64-32T M64x 2 50 32 35 14 75
1. 2. 20112-xX-XX
A Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20112-xx-xx.
2
90° 60° - \,_; | 45°
° o P g 45° METRIC FEMALE MULTISEAL
) 20691-T 90° METRIC FEMALE 60° CONE “”2 50141-T

o SR N et HOSE BORE DIMENSIONS
THREAD E DN DASH A C H
20141-10-03 M10x 1 5 03 41.1 2.5 20.7 14
PART Number E A DIMENSIONS 20141-12-04 M12x 1.5 6 04 43 4 22 17
THREADE L Diselr, o & a S2 20141-16-06 M16x 1.5 10 06 47.4 4.5 24.1 22
20691-14-04 M1dx 1.5 6 04 30 55 37 19 20141-18-06 M18x 1.5 10 06 48.5 4 24.2 24
AU D) LRSS S8 g 3 £ 55 <09 ez 20141-20-06T M20x 1.5 10 06 48.2 5.5 23.9 27
20691-18-06 M18x 1.5 10 06 35.3 5.5 43.8 24 SOA9908 M22x 1.5 B - — - — -
AV 220 S £ L U3 g g 2 20 20141-24-08T M24x 1.5 12 08 61.1 5.5 26.1 30
20691-36-16 M36x 2 25 16 78 6.5 76.5 41 20141-30-12 M30x 2 20 7 80.9 5 33.5 -
20691-36-14T M36x 2 22 14 71.2 6.5 67.5 41 20141-36-14T M36x 2 29 14 83 - 32 64 a1
20691-39-16T M39x 2 25 16 6.7 6.5 4 46 20141-39-16T M39x 2 25 16 88.2 7 33.95 | 46
AV 2] b3S 2 22 20 Sh £ s 5 20141-45-20T M45x 2 32 20 99.1 8.5 38.4 55
20691-52-24T M52x 2 40 24 109.4 10 99 60 20141-52-24T M52x 2 40 24 114.1 9 43.4 60
1. 2. 20692-xx-xx 1. 2. 20142-XX-XX
Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 20692-xx-XXx. Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series numbe is 20142-xx-Xxx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

&

i

74°
METRIC FEMALE 74° cone
REF.GB/T9065.1

90°
90° METRIC FEMALE MULTISEAL

T 20711-T

o T 20191 20191-T ART NUmber E HOSE BORE DIMENSIONS
THREAD E DN DASH A C S2
PART Number THREAIE . SSSE BOEiSH - %‘MENS'?_:\'S — 20711-12-03 M12x 1.5 5 03 14 10 17
20711-12-04 M12x 1.5 6 04 14.5 10 17
20191-10-03 M10x 1 5 03 27 2.5 35.5 14 20711-14-04 M14x 1.5 6 04 15.5 8.5 19
20191-16-05 M16x 1.5 8 05 33 4.5 41.5 22 20711-16-05 M16x 1.5 8 05 16.5 8 29
20191-18-06 M18x 1.5 10 06 35.3 4 45.3 24 20711-18-06 M18x 1.5 10 06 17.5 10 24
20191-20-06T M20x 1.5 10 06 35.3 5.5 44.8 24 20711-20-06T M20x 1.5 10 06 16 10 24
20191-22-08 M22x 1.5 12 08 41 5 52.5 27 20711-22-08 M22x 1.5 12 08 18.5 10 27
20191-24-08T M24x 1.5 12 08 41 5.5 51 30 20711-24-08T M24x 1.5 12 08 16.5 11 30
20191-27-10T M27x 2 16 10 56 5.5 55.5 32 20711-27-10T M27x 1.5 16 10 195 11 32
20191-30-12 M30x 2 20 12 67.5 6 68.5 36 20711-30-12 M30x 1.5 20 12 21.5 11 36
20191-36-14T M36x 2 22 14 71.2 7 69 41 20711-33-12T M33x 2 20 12 20 13 41
20191-39-16T M39x 2 25 16 76.7 7 73.5 46 20711-36-14T M36x 2 22 14 20 14 41
20191-45-20T M45x 2 32 20 91.5 8.5 85 55 20711-39-16T M39x 2 25 16 235 14 46
20191-52-24T M52x 2 40 24 109.4 9 100 60 20711-42-16T M42x 2 25 16 235 15 50
20191-64-32T M64x 2 50 32 131.75 14 122.3 75 20711-42-20 M42x 2 32 20 26 15 50
Notell 1.For ues with braided hoses gzlf use with spiral hoses,hoszofi?iié])(:::ixes number is 20192-xx-xX. 20711-45-20T Ma5x 2 32 20 25 15 25
20711-52-24T M52x 2 40 24 25 17 60

1 O 7 1 1 Notell 1.For ues with braided hoses g:lf use with spiral hoses,hosiﬁ?t'ﬁigxze);ixes numberis 20712-Xx-XX.
74°
GB METRIC MALE 74° cone 20741
REF.GB/T5628 45° 74°
45° GB METRIC FEMALE 74° cone SEAT
E HOSE BORE DIMENSIONS REF.GB/T9065.1L
PART Number

THREAD E DN DASH A C S1 PART Number = HOSE BORE DIMENSIONS
10711-12-03 M12x 1.5 5 03 26.5 15.7 14 THREAD E DN DASH A C H S2
10711-14-04 M14x 1.5 6 04 30.5 18 17 20741-14-04 M14x 1.5 6 04 40.5 8.5 18.5 19
10711-16-05 M16x 1.5 8 05 31.5 19 17 20741-16-05 M16x 1.5 8 05 44.4 8 20 22
10711-18-06 M18x 1.5 10 06 31.5 19 19 20741-18-06 M18x 1.5 10 06 45.7 10 21.4 24
10711-22-08 M22x 1.5 12 08 35 19.5 22 20741-22-08 M22x 1.5 12 08 58.9 10 24 27
10711-24-08 M24x 1.5 12 08 37 20 24 20741-27-10 M27x 1.5 16 10 71.2 11 26.4 32
10711-27-10 M27x 1.5 16 10 38.5 20.5 27 20741-30-12 M30x 1.5 20 12 78.1 11 30 36
10711-30-12 M30x 1.5 20 12 42.5 23 32 20741-33-12 M33x 2 20 12 77.4 13 30 41
10711-33-12 M33x 2 20 12 45 26 36 20741-36-14 M36x 2 22 14 79.8 14 29.6 41
10711-36-14 M36x 2 22 14 45 26 38 20741-36-16 M36x 2 25 16 85.7 14 31.5 41
10711-39-16 M39x 2 25 16 48 27.5 41 20741-39-16 M39x 2 25 16 86.1 14 31.8 46
10711-42-20 M42x 2 32 20 52 28.5 46 20741-45-20W M45x 2 32 20 97 15 36.2 55
10711-45-20 M45x 2 32 20 52 28.5 46 20741-52-24W M52x 2 40 24 112.9 17 40.9 60

1. 2. 20742-xx-XxX 1. 2. 20742-xx-xX
Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 20742-xx-Xxx. Note 1.Forues with braided hoses 2.If use with spiral hoses,hose fitting series number is 20742-xx-Xx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



